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Hong Kong Basketball 3 on 3 Resident Cup
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Court 1 Court 2 Court 3 Court 4

= e IR BNy 1 3 Z Ff B e i ff 1 3 Z f5 PER || Emw N 1 3 L | e Bl 1 Z Iy =i
10:00| 1 | W12-A | Crossover R 2 | Wi2-A | zhzhe » THKK  |10:00[ 1 | M™M12 Flash CAIS B 1| W16 | 5% U16A LSGB  |10:00
10:15| 3 | wi12-B g = 4G 4 | W12-B |Basketball lovers ¥ U12 [1005) 2 | M2 5 B 2 0 4k 4U12 W16 | 5% U16B A% B PR P3| 10:15
10:30| 1 | W18-A| Eimp E ¥ 2 | Wig-A FEA F4B (1030 3 | W18-B | Celine Ho FHC 1| M16-A| XHKA F#m  |10:30
10:45| 5 | Wi12-A S E1 35 VAP 6 | Wi2-A THKK Crossover [10:45| 3 | M12 CAIS A CAIS B 3 | W16 | Celine Ho LSGB  |10:45
11:.00( 7 | wWi2-B 4G Basketball lovers| 8 | W12-B ¥ U12 B X 11:00( 4 M12 |54k 4U12 Flash 4| W16 |AxBs Pk fj 35% U16A | 11:00
11:15| 4 | Wi18-A ® #FEA 5 | Wi18-A FI¥B ey |11:150 6 | W18-B FiC OYSTER | 2 | M16-A q 4 108 4 44A [ 11:15
11:30| 9 | W12-A | Crossover E 35 VAN 10 | W12-A THKK & 11:30) 5 | M12 Flash CAISA | 5| Wi6 | 5% U16A Celine Ho |11:30
11:45( 11 | W12-B £ = Basketball lovers| 12 | W12-B a5 U12 4G 11450 6 | M12 CAIS B aErf % | 6| W16 LSGB ¥a:5 U16B | 11:45
12:00| 7 | W18-A| Eip FHEA 8 | Wis-A FI¥B # % |12:00] 9 | W18-B | OYSTER Celine Ho | 3 | M16-A | 4% 3 4 4*A ABA |12:00
12:15| 13 |wizes| ARH & B 14 |wi2-rs | Bleg % Ax= 7 [12:15] 7 | M12 CAIS A #4012 7 | W16 | Celine Ho A% P B B 12:15
12:30[ 10 [wisr | B 7 A= 2 11 |wisrs| Akg & Ba= % [12:30] 8 | M12 B 0 % Flash 8 | W16 | 5% U16B a5 U16A [12:30
12:45| 15 |W12-% | 3134 = H14f > 16 | W12-%| 3513%% #-14%% - [12:450 4 | M16-C | £ 4 4B e 5 | M16-B| PLKCFS #E [1245
13:00| 12 |W18-% | #10f = B114 = 13 | W18-7| #10%% #11% = [13:00] 9 | M12 B g % CAISA | 9 | W16 | 5% U16B Celine Ho |13:00
13:15| 1 | M18-A | £ 4k 4B % & 4 | M18-B 3k Je n & 13:15| 6 | M16-C e B 7 | M16-B A PLKCFS |13:15
13:30| 1 | MO-A I 4 B =D 4 | MO-B B =B B i 13:30| 10 | M12 |[##4k4U12 CAISB | 10| W16 |Axs e [f LSGB  |13:30
13:45( 2 | M18-A % & A LB 5 | M18-B i L4 440 13:45] 8 | M16-C i L4 4B 9 | M16-B Fy A 13:45
14:00| 2 | MO-A B =D B i=A 5 | MO-B B fi Bi=C |14:00] 11 | M12-% iz ES4 11 |\Wi6-%| # & ESS 14:00
14:15( 3 | M18-A A F45B 154k 41B 6 | M18-B | {4k 4A sEdRE  [14:15[ 10 |M1em %] Ak £ Ceg ¢ 14:15
14:30| 3 | MO-A B i=A i 6 | MO-B B i=C B i=B |14:30 REST 14:30
14:45| 7 [mises| Awyg 2 Bzt | 8 [misrsu| Buy: Az |144s| 11 mewzt| ceg o | B ¢ 14:45
15:00| 7 | Moz | Ak{ & BE= Z 8 | MO-= i BEg ¢ A=t # |[15:00 REST 15:00
15:15) 9 [mis-%| 74 = #ep > |10 [mis-w| 7o e~ [1505) 12 wiewng| Bug ¢ | A £ 15:15
15:301 9 | MO-% | 374 > H$8h > 10 | MO-%- B75% #-8% > |15:30 15:30
15:45 5E AR 15:45




